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® Not only answer but also derivations for every question

’l‘éi— Q1[+t4] The pd.f. of the generalized gamma distribution is defined as
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(iii) [+1] Show that the generalized gamma distribution reduces to the exponential,

(o) X Weibull, and gamma distributions. [t 6. )

Koe c-,wgwnmo\bt 6:2) T Di:zg N&&llé}w 7o, (70 ,A79 , Xzo
Ho=0= ,L’Y."’ Exp (X)) - T(X) = >\e:>\’>( AP, %20
: o
-l =N

Ho=\, vvnwabldl L))+ T = XX @7 |, ase,dre, o

& SRR
_T.‘( o =1 |l/ N s 30\5‘"’“’1"‘0\{ ﬂ'}\) ; 'P[[}C}:: —LIX{} 16_;\9( , GBro, k20 'f/




_! L

g . =EX
Q2.[+2] The hazard function of the Pareto distribution is defined as
Hxy=018x5>4. 850, »e

’f’O (1) [+ 1 Draw the @ of the hazard function (in details). i
9 he) hieio
‘X) o -_Q;(T: L0 N \ 5( W=y = 0

,_Q N
DQ—* Rl £ K\
] X

! >

+ ‘ (ii) [+1] Derive thc survival 1111'101101? A
HB0= (X2 4y = bl = Ik

SB)= expltied) = 7P \*/é 2y

@ Q3. [+3] X has a survival function S(x)=exp(-Ax*), xa,A>0.
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,,l/ ( (i)  [+1] Derive the marginal survival function and the marginal hazard function
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_ Q6 [+3]. Let X be time-to-death and C, be censoring time. Assume the model
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